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REGENTS HIGH SCHOOL EXAMINATION
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Tuesday, August 13, 2019 — 8:30 fo 11:30 a.m., only

Student Name \#N Ofu ?g S

School Name KI mr@./

The pessession or use of any communications device is strietly prohibited when taking
this examination. If you have or use any communications device, no matter how briefly,
your examination will be invalidated and no seore will be calculated for you.

Print your name and the name of your school on the lines above.

A separate answer sheet for Part I has been pravided to yon. Follow the instmctions from the
proctor for completing the student information on your answer sheet,

This examination has four parts, with a total of 37 questions. You must answer all questions in this
examination. Record your answers to the Part T multiple-choice questions on the separate answer
sheet, Write your answers to the questions in Parts 1Y, I, and IV directly in this booklet. All work
should be written in pen, except for graphs and drawings, which should be done in pencil. Clearly
indicate the necessary steps, including appropriate formula substitutions, diagrams, graphs, charts,
ete. Utilize the mfornation provided for each question to determine your answer. Note that diagrams
are not necessarily drawn to scale.

The formulas that you may need to answer some questions in this examination are found at the
end of the examination, This sheat is perforated so you may remove it from this booklet.

Scrap paper is not permitted for any part of this examination, but you may use the blank spaces
in this boaklet as scrap paper. A perforated sheat of scrap graph paper is provided at the end of this
baoklet for any question for which graphing may be helpful but is not required. You may remove |
this sheet from this hooklet, Any work done on this sheet of scrap graph paperwill not be scored.

When you have completed the examination, you must sign the statement printed at the end
of the answer sheet, indicating that you had no unlawful knowledge of the questions or answers
prior to the examination and that you have neither given nor received assistance in answering any of
the questions during the examination. Your answer sheet cannot be accepted if you fail to sign this
declaration.

Notice ...

A graphing calcnlator and a straightedge (ruler) must be available for you to use while
taking this examination,

DO NOT OPEN THIS EXAMINATION BOOKLET UNTIL THE SIGNAL IS GIVEN.
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Part1

Answer all 24 questions in this part. Each correct answer will receive 2 eredits. No partial
credit will be allowed. Utilize the information provided for each question to determine your
answer. Note that diagrams are not necessarily drawn to seale. For each statement or question,
choose the word or expression {hat, of those given, best completes the statement or answers
the question. Record your answers on your separate answer sheet. [48]
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14 The functions fix) and g(x} are graphed on the set of axes below. computations.
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17 The quadratic functions r(x} and g{x} are given below, computations.
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TheJength of a rectangular patio is 7 fect more than its width, w. The computations.
ea ¢ a patio, A{w), can be represented by the function
DAw)=w+7 (3) Alw) = 4w +'14
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21 A dolphin jumps out of the water and then back i

Part I

Angwer all 8 questions in this part. Each correct answer will receive 2 credits. Clearly
indicate the necessary steps, including appropriate formula substitutions, diagrams, graphs,
charts, etc. Utilize the information provided for each question to determine your answer.
Note that dingrams are not necessarily drawn to scale. For all questions in this part, a correct
numerical answer with no work shown will reccive only 1 credit. All answers should be
written in pen, except forr graphs and drawings, which should be done in pencil, [16]
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26 A student is in the process of solving an equation. The original equation and the first step are

shown below. /\/\

Original: 3¢ +6=2—5q +7

Stepone: Jg+6=2 +G.Q

Which mWﬂmEEE the student use for the first step? Explain why this property is correct.
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34 On the day Alexander was born, his father Eémﬁ%wmocc y 1 an account with @.E:Em; 35 Stephen collected data from a travel website. The data ineluded a hotel's distance from Times
rate. Write a function, A(f), that represents the value of this irivestment £ years after Square in Manhattan and the cost of a room for one weekend night in August. A table containing
Exander’s birth. L — Lo : L —— these data appears below.
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Determine, to the nearest dollar how much mere the investment will be worth when Alexander Write E@E&on @mww_.._.ao: for this data set. Round all values to the nearest hundredth.
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Then it stopped snowing for 3 hours. he N 6 B

r\\ﬂﬁn it started snowing again at an average rate of one-half inch per hour for the next £ hours until
the storm was over. _—— .
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On the set of axes below, giaph the amount of snow accumulated over the time interval of the [
storm.
“TON

{logse Tre oS, Pelomdotd Sraafett

104 y -

W57
A

v

; ﬁcﬁﬁﬁ %ck.%
\,_\(rn

Accumulated Snowfail {in inches)
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9o 20

\
Elapsed Time (in :o%«m
stokto frithyzo fox 2

K

. ,%
Determine the dyerage tatd of snowfall over thg length of the sto \,.pmgﬂm the rate, to the nearest
i —_—

%&ﬁ h of an inch per hour.
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Answer the question in this part. A correct answer will receive 6 credits, Clearly indicate
the necessary steps, including appropriate formula substitutions, diagrams, graphs, charts, ete.
Utilize the information provided to determine your answer. Note that diagrams are not
necessarily drawn to scale. A correct numerical answer with no work shown will receive
cnly 1 credit, All answers should be written —w_p pen, except for graphs and drawings, which

should be done in pencil. [6] .lﬁ 4& \\& ,_H + .h - .

2 chickens, 8he bought two different types of chickens. Americana
elawdre chickens-cost $2.50 cach!,

'
S

37 Allysa spent 835 to purchas
" chickens cost $3.75 each an

=

Write a system of equations that can be used to determine the number of Americana n__mn#g@

and the number of U&W,B..m nrmornumgm purchased. @A Mu VAT 4
At = (2

37544 259D = 35

Ac

Determine algebraically how many of each type of chicken Allysa purchased.
_?_Dam.\lf“—d S ﬁ“@&fbju C,V\}V AU?\.T-.«)J%B(&
a llowstd-

£3.730D =%

- - —_ w 3
75 (D 12L) 26)2 /20 TS s
(275 ‘oDz 3y) T>EYISA -2.300 © -
' @UV\TM / TZSD 9
\¥¢Dw__u\. 2y 1.25
A= . Y Aprerigae, ChicKens

S Dricwnt Clicks

Each Americana chicken lays 2 eggs per day and each Delaware chicken I 1 egg per day.
Allysa only slls ggs by‘thie [l do%en for $2.50) Determing how much money She expects to take

K €955 Say pardEg = Arew Lo
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